) .
IRP208DB-8U 8U DIN Rail Box Installation 1 ; B

ENCLOSURES

. ] Step 3 Install Left Side Brackets. Secure side brackets with
Included in this package (4) M4 screws but do not tighten them yet.

y

> P 4
1~ |-[Short depth side cut.

(2) Cover Panels

(2) PVC Wire Ducts

e % gt '
(26) M4 x 8 Screws § ‘Q

.
<

Step 4 Install Bottom Cover Panel. Place g

N (6) #10-32 x 5/8 Rack cover panel with flange facing up and short o
N\\\\\\\\\\ Screws depth side cut facing forward as in illustra-

77

&)

&

tion. Secure side brackets with (3) M4 screws
\\\\\\\\\\\ (6) #12-24 x 5/8 Rack to right and left side of cover panel but do not

(2) 8U Ear Brackets <)) Screws tighten them yet.

&

&)

Installation Steps \\AA

Step 1 Install Top & Bottom
PVC Wire Ducts.

Step 5 Install Top
Panels. Secure both side
of the panel with (3) M4

&z i Z
N2 -
"/ \e - N

, (

e 2 \ SN N screws on each side but do h \\\\ ~
Z ; not tighten them yet. S0 \\

Step 2 Install Right Side Bracket. Secure side
brackets with (4) M4 screws but do not tighten
them yet.

S
Step 6 Tighten all M4 screws on both right and left hand side.
Makes sure all panels and brackets are secured and not moving.
Assembly complete.

Industrial Automation and Enclosures, Inc. Tel: (516) 997-5050 www.lAenclosures.com



